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This document consists of 7 printed pages.
Answer all questions.

Question 1: The road to clean energy
Extract 1: Climate change

2019 was the second warmest year on record. Carbon dioxide (CO2) levels and
other greenhouse gases in the atmosphere rose to new records in 2019. Climate change is
affecting every country on every continent. It is disrupting national economies and affecting
lives. Weather patterns are changing, sea levels are rising, and weather events are becoming
more exireme.

Saving lives and livelihoods require urgent action to address both the coronavirus pandemic and
the climate emergency. The Paris Agreement adopted in 2015, aims to strengthen the global
response to the threat of climate change by keeping a global temperature rise this century well
below 2 degrees Celsius above pre-industrial levels.

Source: United Nations. https://www. un.org/sustainabledevelopment/climate-change/

Extract 2: Going Green — What's good for the planet is good for business

Increasingly, businesses around the world are responding to a global imperative and consumer
demand to go green. More than 80 per cent of people respect companies and brands that adopt
eco-friendly practices, according to an international survey. More than half boycott companies
with unsustainable practices or products.

“Consumers want to make responsible ‘green’ purchases, but do not always have the means to
do so,” the report says. “For brands, this is an opportunity.” Shoe company Adidas, for instance,
produced 7,000 limited edition sneakers made completely from plastic trash retrieved from the

ocean. The sneakers sold out instantly.
Source: Forbes, 14 May 2019

Extract 3: China cuts electric vehicle subsidy for 2021

On December 2020, the Chinese Ministry of Finance announced the new electric vehicle (EV)
subsidy policy for 2021. This included a 20 per cent reduction year on year as planned. Under
the new policy for 2021, the subsidy for pure electric vehicles (PEVs) with a driving range of
300-400km will be lowered to 13,000 yuan per vehicle, from 16,200 yuan in 2020.

The outbreak of the coronavirus early last year put huge pressure on China’s EV industry with
output and sales falling by more than 50 per cent year on year in the first three months of 2020.

Source: Fastmarkets, 5 Jan 2021

Table 1: Price and cross-price elasticity matrix for gasoline cars and battery electric

cars
Cross price With respect to price With respect to price
elasticity of demand of gasoline cars of battery electric cars
For gasoline cars -1.08 0.19
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For battery electric 0.36 -1.27
cars

Source: European Transport Research Review, 04 Jan 2021

Extract 4: The global lithium market

The global lithium market is estimated to grow by around 8 to 10 per cent annually from 2019 to
2024. Lithium is needed to manufacture glass, ceramics, and lithium-ion batteries that power
electric vehicles (EVs).

Australia, Chile, and Argentina account for nearly 89 per cent of global lithium production.
Lithium is predominantly sourced from brines such as salt lakes and salt flats as it is cheaper to
extract as compared to hard rock ores and salt deposits.

China is the biggest consumer of lithium — making up more than 55 per cent of the global
demand — and is the largest manufacturer of lithium-converted products. The lithium-ion battery
sector accounts for about 60 per cent of the lithium demand in China, with EV and portable
electronics as the largest demand drivers.

EVs made up less than 1 per cent of the world's cars in 2019. However, according to investment
bank USB analysts, EVs will reach a price parity with gas-powered cars by 2024. For this
reason, UBS projects that EVs will make up nearly half of all new car sales by 2030. UBS
estimated that the lithium market will grow 8 times by 2030.

Where will the world get all the lithium to produce lithium-ion batteries? Lithium is not a rare
metal. There’s plenty of it but it needs to be mined, using large-scale operations to extract
it—and these might take years to explore and set up. Since 2018, lithium prices have crashed
60-70 per cent to rock-bottom lows. The drawdown forced miners to cut back on operations and
call off the exploration of new mines.

Sources: GEP.com (accessed in June 2022) and Forbes, 7 Dec 2020

Extract 5: Lithium supply

The supply base for lithium is expected to diversify over the next decade, even as South
American and Australian output increases. As of 2020, brine-based lithium sources were in
various stages of development in Argentina, Bolivia, Chile, China, and the US, and
mineral-based lithium sources were being developed in Africa, Australia, South America,
Canada, and Europe, according to the US Geological Survey. [n addition, new mining
techniques and types of deposits are expected to supplement traditional sources.

However, investors have been somewhat hesitant to commit to new mines due to doubts over
the duration of the boom in lithium demand. New battery technologies could begin to replace
lithium- ion in 15 years.

Source: Physics Today 74, 5, 20 (2021)

Table 2: Lithium Market Balances (tons)

2018 2019 2020 2021* 2022 2023* 2024*
Demand 268 362 | 300429 [340662 |429484 |584989 |722701 | 899622
Supply 278 508 | 323988 |343712 [403340 [461953 | 563375 | 711683
Market balance | 10 146 23 559 3050 -26 144 | -123 035 [ -159 326 | -187939
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[ (+surplus/-deficit) | [ | | | | | 1
* The figures for 2021 to 2024 are estimates.

Source: Physics Today, 74, 5, 20 (2021)
Extract 6: Asia Pacific must phase out fossil fuel subsidies

The extent to which Asia-Pacific is planning on decarbonising will make or break the global fight
against climate change. Asia-Pacific is home to 60 per cent of the world’s population and the
main engine of global economic growth. However, since the early 2000s, Asia-Pacific has been
the main carbon dioxide emitting region, producing about half of the world's total emissions.

Al in all, coal in China and India is currently the single biggest contributor to global
greenhouse-gas emissions. China continues to subsidise coal for the following reasons: 1) to
provide cheap electricity and heating to citizens, as coal plants remain a low-cost electricity
supply option compared to natural gas and offshore wind; 2) to foster international industrial
competitiveness by using cheaper electricity for production; and 3) to support the coal industry,
which employs about six million workers, mainly in north-eastern provinces that suffered most

growth-wise since 2015.
Source: Brink News, 7 June 2021

Extract 7: China has no choice but to rely on coal

China President Xi Jinping said that the country’s carbon emissions would begin to decline by
2030, and he said the country will reach carbon neutrality by 2060. In the meantime,
policymakers are making clear that economic growth remains a top priority — and that growth
depends largely on coal power.

“China’s energy structure is dominated by coal power. This is an objective reality,” said Su Wei,
deputy secretary-general of the National Development and Reform Commission. He added that
coal is readily available, while renewable energy needs to develop further in China.

Source: CNBC, 29 April 2021

Questions

(a) Explain how an effect of climate change could be considered an external  [2]
cost.

(b) Explain why a firm’s transition to low carbon activities could impact its profits ~ [3]
positively.

{c) Using a diagram, explain how a reduction in subsidies for electric vehicles  [4]

(Extract 3) will affect consumer surplus in the market for electric vehicles.

(d) Explain how the information in Table 1 could be used to explain that a  [3]
reduction in subsidies for electric vehicles could accelerate climate change.
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5
(e) Discuss the extent to which the price of lithium can be expected to rise  [8]
beyond 2024.
(4] Discuss the case for and against the subsidisation of coal by governments  [10]

of countries like China.

[Total: 30]

Question 2: Can we bring together a disconnected world?

Table 3: Trade Openness Index’ for selected countries (2018 — 2020)

Country 2018 2019 2020
China 37.57 35.89 34.51
Singapore 325.34 323.52 320.3
Sri Lanka 53.51 52.38 39.52
USA 27.48 26.29 23.38

' The Trade Openness Index is based on the sum of the country's exports and imports as a percent of the
country’'s GDP

Source: The Global Economy, accessed July 2022

Figure 1: Sri Lanka Standing Deposit Rate? and Exchange Rate (per USD) (2018 — 2020)
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% The standing deposit rate is the benchmark interest rate set by the Central Bank of Sri Lanka

Source: Central Bank of Sri Lanka and XE Currency, accessed July 2022
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Extract 8: A nation due for a change

The sum of Sri Lanka exports and imports account for 53 per cent of its GDP in 2018. Sri
Lanka's exports were hurt in the short term due to the supply chain disruptions as well as the
collapse in global demand for its goods and services during the pandemic. The situation has not
been helped by the fact that Sri Lanka’s export markets and products are highly concentrated in
textile and food products. Moreover, Sri Lanka's imports exceeded exports over the years,
leading to a deteriorating trade balance.

Multi-national corporations (MNCs) are now actively seeking new suppliers and manufacturing
locations outside of China with the rising cost of production in China and to diversify their
supply-chains and risk — from electronics and appliances to auto-parts and precision
components, to textiles and garments. There is an opportunity for countries like Sri Lanka to
benefit from supply chain disruptions and realignment as MNCs seek to lower their cost of
operations. Sri Lankan firms with capabilities in these sectors, together with the government,
need to attract these global companies seeking alternate manufacturing or sourcing locations.

Source: Korean Institute for International Economic Policy, 2020
Extract 9: A path forward?

In the face of the world's superpowers focusing on their domestic agenda, Sri Lanka should
continue with gradual market-oriented reforms to capitalise on the renewed Regional
Comprehensive Economic Partnership (RCEP) trade agreement between ASEAN members,
China, Japan, South Korea, Australia, and New Zealand to continue diversify its trade. One
measure is to cut the red tape hampering businesses to attract greater foreign direct investment
(FDI) from other sources and make Sri Lankan exports more competitive. It takes as long
as nine days to start a business in Sri Lanka and only 2.5 days in Singapore.

It is also important for Sri Lanka to continue with macroeconomic stabilisation efforts, including
fiscal consolidation, and better budget and debt management to encourage foreign investment.
In this regard, staying the course in the current International Monetary Fund (IMF) programme of
reducing fiscal debt is crucial, as Sri Lanka faces historically high debt repayments of around
four billion USD per year between 2019 and 2022. If uncontrolled, there is a risk of debt spiral
and put Sri Lanka on the road to national bankruptcy.

Source: Lakshman Kadirgamar Institute, March 2018

Extract 10: A world less connected

The COVID-19 pandemic is driving the world economy to retreat from global economic
integration. Policymakers and business leaders are now questioning whether global supply
chains have been stretched too far. National security and public health concerns are providing
new rationales for protectionism, especially for medical gear and food, and an emphasis on
domestic sourcing.

This retreat will not mark the end of globalisation, a process that has reached a historically high

level. But globalisation can be reversed, at least partially. The Great Recession of 2008 marked
a historic turning point in the degree of global economic integration. Now, in response to the
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current health and economic crisis, policymakers appear poised to take deliberate steps to
reinforce the movement toward deglobalisation.

While trade has tended in past decades to grow more rapidly than world output, that is no longer
the case. Several factors have been at work. Under President Xi Jinping, China began to turn
inward with policies to promote the indigenous development of leading industries while under
President Donald Trump, the United States has embraced an ‘America First' policy, shifting
away from trade liberalisation and moving toward protectionism. The US also initiated a trade
war with China over its unfair trade practices, significantly reducing bilateral trade.

Source: VoxEU, Centre for Economic Policy Research, May 2020

Extract 11: Impact of a disconnected world

It is folly to think that a chaotic, crisis-driven retreat from globalisation will not introduce more —
and vastly more serious — problems. Even the US, with its highly diversified economy,
world-leading technology, and strong natural-resource base, could suffer a significant decline in
economic growth because of deglobalisation. For smaller economies and developing countries
that are unable to reach critical mass in many sectors and often lack natural resources, a
breakdown in trade would reverse many decades of growth.

In 2020, over 26 per cent of the global FDI stock was invested in the United States. By
comparison, the second most popular destination, China (including Hong Kong), accounted for
only 9.2 per cent with Singapore taking up 7.5 per cent. Few countries will be spared by the
looming spectre of deglobalisation, which threatens cross-border trade and investment, worrying
business leaders, workers, and policymakers.

Source: Channel News Asia, June 2020 and Forbes, Jan 2021
Questions

(a) Using Figure 1,
i) State and explain the relationship between Sri Lanka's exchange rate and [3]
standing deposit rate.
i)  Explain how the change in Sri Lanka’s exchange rate will affect its balance [4]
of trade.

(b) i) With reference to Table 3, describe the change in the countries’ Trade [1]
Openness Index over the period 2018 — 2020.

ify  With reference to Extract 10, suggest and explain two possible reasons for [4]
the above change.

(c) Assess whether it is more crucial for Sri Lanka to reduce its balance of trade [8]
deficit or its fiscal budget deficit to improve its economic performance.
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(d) Using the case material and your own knowledge, discuss the extent to [10]
which deglobalisation will adversely affect small economies more than larger

economies.
[Total: 30]
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Answer three questions in total.

Section A

One or two of your three chosen questions must be from this section.

1 In 2020, the Singapore government distributed reusable masks to all households. it
highlighted that besides protecting others, the wearing of face masks can protect
oneself better from the spread of COVID-19. During that same period, Singapore saw
rising sale of fake face masks which are sub-standard masks with ineffective filtration

layers.

(a) Explain how consumer ignorance and asymmetric information could lead to an
inefficient allocation of resources in the market for face masks. [10]

(b) Evaluate the alternative policies that can be adopted by the Singapore government
to correct both these market failures. [15]

2 Food in restaurants and hawker centers have risen with food prices at restaurants
having increased at a faster pace compared to hawker food. Food vouchers for hawker
centers have been issued by the Singapore government to help the lower-income
households.

(a) Using the demand-supply model, explain why the price of food in restaurants rose
at a faster rate compared to food in hawker centres when energy cost rose.
[10]

(b) Discuss whether providing food vouchers is the best measure the Singapore
government can undertake to address the rising price of food.

[15]

3 Nike is the market leader in the global sports footwear industry. Nike's business
strategies include building its brand through sports celebrity endorsements, developing
products that have high-quality, market-leading technology and acquiring competing
sports brands.

(a) Explain two ways in which a profit-maximising firm like Nike could benefit from

acquiring another firm in the same industry. [10]

(b) Discuss the view that governments should stop firms from acquiring other firms in
the same industry.
[15]
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Section B

One or two of your three chosen questions must be from this section.

4 Due to the outbreak of COVID-19, Singapore closed its borders to short term visitors
and some foreign labourers in 2020.

(a) Using AD-AS analysis, explain how the closure of international borders can
adversely affect an economy.
[10]

(b) Discuss how different countries will adopt different policies to tackie these
consequences. [15]

5 Monetary policy - generally conducted by central banks such as the US Federal
Reserve or the European Central Bank - is a policy tool for achieving low inflation and
economic growth.

(a) Explain the economic consequences when central banks are unable to achieve low
inflation. [10]

(b) Assess the likely impact on the living standards of Singapore residents when the
us central bank cuts interest rate.
[15]

6 Singapore is one of the most competitive economies globally. Businesses in Singapore
receive government support to uplift productivity, strengthen capabilities, and access
new markets.

(a) Explain the reasons why a country’s comparative advantage might change over
time.

[10]

(b) Discuss the extent to which the measures adopted by the Singapore government
aimed at increasing global competitiveness might cause difficulties for its economy.
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[19]
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Table 1 shows that the cross price elasticity of demand for gasoline cars with respect to
a change in price of EV (XEDgg) is positive with a value of 0.19. (1)

Thus, when price of EV rises due to the reduction in subsidies, motorists will be more

g to substitute towards gasoline cars which has become relatively cheaper, causing

demand for gasoline cars to increase. (1).

This will accelerate climate change as gasoline cars is a source of CO2 emission. (1)

(e)

1.

Discuss the extent to which the price of lithium can be expected to rise beyond
2024.

Introduction

The extent to which the price of lithium is expected to rise beyond 2024 depends on
whether demand will continue to outweigh supply.

DD Factors

Demand for lithium is expected to rise significantly beyond 2024 due to rising
demand for EVs.

Due to shifting tastes and preferences towards environmental conscious goods (Ext
2), consumers are more willing to buy electric vehicles (EV) at ali prices. This causes
a rise in demand, where EV sales are estimated to make up almost half of new car
sales by 2030 (Ext 4).

[Alternative factor to explain rise in Qd for EVs is govt subsidization of EVs]

The rise in demand for electric vehicles in turn cause the derived demand for
lithium to increase as lithium is a key factor input in the production of electric vehicles
as a key ingredient in the battery technology.

Therefore, demand for lithium is expected to rise beyond 2024 significantly,
contributing to upward pressure on price.

2. The rise in demand for lithium might slow over time and might fall

8]

Due to continued improvements in battery technology, the rise in demand for lithium
may be limited when the use of lithium might be outdated or phased out to make way
for new battery technologies in 15 years (Ext 5). Thus, EV manufacturers that may
be willing to use these new battery technologies will switch away from lithium
batteries, [L] causing the derived demand for lithium to fall eventually. This
contributes to downward pressure on price.

Explain the SS f hat affect tt i £ lithi
SS Factors
1. Supply for lithium is expected to rise due to entry of new firms.

With rising demand for lithium, prices will rise in the short run, leading to supernormal
normal profits which will attract new firms to join the globat lithium market in the long
run.

As seen from Ext 5, the supply base for lithium is expected to diversify from 2020
onwards, where more countries like Australia and Canada are being developed as
new sources for lithium. This will increase the number of sellers for lithium, which in
turn raise supply for lithium.

According to Ext 4, there is plenty of un-exploited lithium in the world. Thus, there is
the possibility of supply rising by enough to match the rise in demand or exceed the
rise in demand (described earlier) over time.

Moreover, new mining techniques will be developed over time (Ext 5).
This will lower MC of preducing lithium, further boosting supply.
Rising supply puts downward pressure in price.

It is possible for demand to rise by more than supply beyond 2024. While the rise in
demand for lithium is expected to rise greatly (prior to the invention of alternatives to
lithium batteries), it takes time to explore and set up new mines (Ext 4), there is excess
of demand over supply seen in 2021 to 2024 (Table 2), and this will likely continue to
hold beyond 2024 because it takes a long time to construct new mines.

Figure 1: Lithium market beyond 2024 (short term)
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Since coal is China's main source of energy, coal is a necessity that powers basic
needs like healing and electrical appliances at home (Ext 6 para 2). Hence, with
subsidisation of coal, China will be able to keep coal prices low, and allow energy
prices to remain affordable, and with keeping outcomes equitable especially for poor
households. [L] This justifies the need to subsidise coal.

Price, Cost, Benefit ($unit)
4 MSC = MPC + MEC

MPC = §8

. MPC' = S (with subsidy)
e

P I .
: P
> 1 Per unit subsidy at Q'
DD = MPB = MSB
{assuming ho positive
: ! externalities)
0 o a o Quantity of coat /t

Figure 1: Per unit subsidy in the coal market

2. Subsidisation of coal enables China to enjoy a higher rate of actual growth from

greater export price competitiveness

With China’s energy structure dominated by coal (Ext 7), the subsidisation of coal will
reduce the price of energy and in turn, this will reduce the unit cost of production of
goods and services. With reference to Fig 2, this increases aggregate supply and
cause the horizontal AS curve to shift downwards from AS, to AS,. As a result,
assuming AD remains the same, the rise in AS will result in a fall in GPL from P, to
P, and consequently, real national income will increase from Y, to Y, via the real
balances effect, international substitution effect and interest rate effect. The
international substitution effect is supported from Ext 6 para 2, that the cheaper
goods and services improve the international industrial competitiveness of Chinese
exports to overseas. With actual economic growth (from Y, to ), govemments like
China are able to achieve its objective as it has placed economic growth as its
priority (Ext 7 para 1).

3. The subsidisation of coal allows China to preserve its jobs in the coal industry.

AGAINST
4. The subsidisation of coal will worsen allocative inefficiency by furthering

Ganaral Price Level

p. | 25,

AS

Real GDP /t

Figure 2: AD-AS diagram on China’s use of coal as its main energy source

For countries like China, the energy infrastructure is mainly denominated in coal
power (Ext 7 Para 1). if China were to deprioritise coal as its main energy source,
the quantity demanded for coal will decrease significantly. As a result, coal
producing firms’ demand for labour will fall. This causes a surplus of workers at the
new equilibrium wage, which will fuel unemployment in the coal industry, as wages
are downward inflexible and that workers are unwilling to take a lower wage.

Thus, to protect jobs, China will need to subsidise coal.

[Ev] Since the coal industry is the dominant energy source in China (Ext 7 P1), the
impact on unemployment will be severe if China stops subsidising coal.

escalating the negative externalities probiem, and it also prevents the attainment
of sustainable growth.

The use of coal produces negative externalities, as explained in part (a), leading to
allocative inefficiency. Since firms aim to maximise total profits, they ignore MEC
and supply base on MPC. The free market equili rium output is at Q where DD =
SS. On the other hand, the socially optimal output is at Q*, where marginal social

benefit (MSB) = MSC. This results in an overproduction of coal by (Q - Q*} units,
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Explain how the change in Sri Lanka’s exchange rate will affect its balance of
trade.

[1] - Link to the impact of BOT

[1] — Explain impact of depreciation on export revenue

[2] - Explain impact of depreciation on import expenditure

[1] - Explain impact on BOT (Not acceptable: ‘increase’, ‘more positive’, ‘larger’ and
variations)

Answers that explain how changes to BOT will affect the exchange rate will not be
accepted.

Full credit can be awarded if answer explains how an appreciation of LKR will affact
BOT.

A depreciation of the LKR (rupee) will lead to price of Sri Lankan's export to be
relatively cheaper in foreign currency. [1] Demand for its export will rise
corresponding rise in export revenue. [1]

Price of its import will become more expensive in LKR, leading to a fall in quantity
demanded for imports. [1] Assuming that PEDy, > 1, import expenditure will fall. [1]

With falling export revenue and rising import spending following the depreciation of
the LKR, Sri Lanka's BOT, which is the difference between the value of export and
import revenue, improves. [1]

(4]

experience fall in GDP which in turn induces their residents to lower their demand for
imports. This causes a fall in X for the country that imposed tariffs. {1} Thus import
expenditure and export earnings fall for both parties, explaining the fall in trade
openness index.

Another reason is the trade war between USA and China. When these 2 countries
impose trade barriers on each other’s goods, the reduced trade flow between USA
and China might reduce trade flows with between other countries as well since
China’s and US's real GDP might have been negatively affected by the trade war. 1
The lowered purchasing power leads to fall in imports by USA/China from their trade
partners, leading to a fall in the TO! for their trade partners like Sri Lanka and SG. [1]

Another possible reason might be due to the pandemic that led to firms and
governments to localise their global supply chains (i.e. reduce off-shoring) in order to
manage the supply shocks (Ext 10, para 1). [1] Hence, there is lesser need for
countries to import components that were previously fragmented across the world,
resulting in a fall in export and import values and the worsening of the TO! especially
from 2019 — 2020, reinforcing the decreasing TO! trend. [1]

With reference to Table 3, describe the change in the countries’ Trade
Openness Index over the period 2018 — 2020.
[1] - Comparison of the direction of change

All countries Trade Openness index (TOI) fell over the period [1].

]

£—

With reference to Extract 10, suggest and explain two possible reasons for the
above change.

[2] For each possible reason that is explained. Reasons need to be based on Extract
10, address the fall in TOI across the entire time period (2018 — 2020) for the 4
countries.

2 out of the possible 3 reasons

One possible reason is due to the increase levels of protectionism in the global
economy (Ext 10, para 3). The imposition of import tariffs causes imported goods to
rise in price, which incentivises residents to lower quantity demanded for imports
(M). This causes fall in the level of exports by trade partner. {1} The trade partner will

[4]

Assess whether It is more crucial for Sri Lanka to reduce its balance of trade
deficit or its fiscal budget deficit to improve its economic performance.

Requirement 1: Explain how the reduction of BOT deficit will improve economic
performance (link to AEG, UnN)

Requirement 2: Explain how the reduction of fiscal deficit will improve economic
performance (link to AEG, UnN)

Introduction

Sri Lanka is currently facing a worsening trade balance deficit (Ext 8, para 1) and
high level of fiscal debt (Ext 8, para 2). This will severely hamper its economic
performance as it might lead to a fall in net export and worsening of confidence with
the economy. Addressing both issues will lead to improvement for Sri Lanka's
economic performance and we will consider the magnitude and persistence of the
issue to weigh which issue will be more crucial to address.

Body
Addressing the trade balance deficit could be more crucial to improve Sri
Lanka’s economic performance.

Measures such as joining the RCEP to address the trade balance deficit might
improve the trade balance as it will improve the price competitiveness of Sri Lanka’s
exports when it trades with members of the RCEP. This could bring about a rise in
net export (assuming that import expenditure rises at a slower rate than export
revenue). With the rise in (X-M), its AD is expected to rise and via the multiplier
effect, its RNY will rise with a decrease in demand-deficient unemployment.

Overall, this can improve the economic performance of Sri Lanka.

[8l
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aggregate demand (AD, to AD,), leading to an unplanned rise in inventories as
output exceeds expenditure. Firms then decrease their output and hire less
factors of production (i.e. labour), consequently causing a multiple decrease in
national income (Y, to Y,) via the muitiplier process and increase in
demand-deficient unemployment.

Hence, deglobalisation might bring about negative economic growth at the worst
or a slowing economic growth at the best.

[Ev] This might affect countries that are more trade dependent such as an emerging
economy (which could be a large economy like China) that embraced
export-oriented industrialisation or a relatively small domestic economy as trade will
constitute a larger proportion are of their GDP such as Singapore relative to a larger
economy such as the US.

General Price Level

2
P

— Real National
° Y1 vt vo i Income/t

2. Deglobalisation will affect economies negatively through reduced capital flow.

Similarly, the reduction of capital flow across international borders will lead to a
reduction of FDI and a corresponding fall in investment expenditure (1) within
different sconomies. The effect of this fall in | is similar, as explain above, on AD.In
addition, assuming that the fall in | will lead a fall in the level of capital formation (i.e.
rate of capital growth is less than the rate of capital depreciation), the quantity of
capital stock within the economy is expected to fall. This will lead to a fall in AS (from
AS, to AS,) and a consequent reduction in the productive capacity within the
economy (from Yf, to Yf ;). This will inherently lead to the reduction of potential
economic growth within the economy and limit the rate of future economic growth.

[Ev] This impact can be significant regardless of the size of an economy as seen in
Ext 11. The dependence on FDI will determine the extent of impact through a
reduction in capital flow rather than the size of the economy.

3. Deglobalisation will affect economies negatively through labour flows.

The reduce in international labour flows will reduce the ready poo! of skilled and
unskilled labour within an economy. This will fead to a fali in supply of labour and an
accompanying shortage assuming that demand for labour remains constant. Hence,
there will be upward pressure and a rise in wages at the new equilibrium. This will
increase the unit cost of production (UCOP) within the econamy and a fall in AS (an
upwards shift in horizontal AS). Furthermore, the quantity of labour within the
economy is expected to fall reducing the maximum possible output that it can
produce. Overall, the entire AS curve is expected to shift left.

General Price Levef

AS2 AS1

AD1

Real National
o Y2 Y1 ~=n°=._0\~

Firms will pass this rise in UCOP to consumers leading to a rise in the general price
level from P1 to P2. in addition, through the wealth, intemational substitution and
interest rates effects, consumption (C), investment (1) and export (X) expenditure will
fall (represented as a movement along the AD from Y1 to Y2 until equilibrium is
restored at a lower national output. Overall, deglobalisation in terms of reduce labour
flow will bring about increased cost push inflationary pressure and possible reduction
in actual and potential economic growth.

Conclusion:

[Stand] While we expect all economies to be negatively affected by degiobalisation,
smaller sconomies will be mare severely affected by deglobalisation relative to larger
economies.

Smaller economies will tend to depend more on international trade and capital flows
for economic growth. Larger economies that might have been dependent on
exported-oriented industrialisation and FDI to drive their growth can rely on their
sizable domestic sectors (C, G and domestic I) to buffer against the negative
impacts of deglobalisation. Hence, with deglobalisation, assuming all other factors
the same, the growth of smaller economies is expected to be lower than that of
larger economies.

More papers available at www.testpapersfree.com



BP-~685

WE Xeus 10} sajdluexs pue SiSAleue

dluouoda Buisn uopegueIsqNs UIM PUBLS {{RIBA0 LB 8q ISNW eley ]
uonesjjeqojSep

woy eiow peosye aq M SIWOUCDS JO 92iS YOIyM yblom
jey) sjepsiew ases Jo oddns yum yueweBpni/sjuowwos sanenieag

-1

"SiSK{eUE JO S/00} OIIOLOSa JO 95N GWI0S (M KBANERey SO|UIoU00s
weye |wm uojesieqoiBap moy sishjeue ejeidwoou; Jo eandusseq

L-S

‘uopesijeqojbep
jo smoy g iseal je jo joedwy ey ueidxe poys Jemsue ayf

‘sisAjeue Jo sjoo} a1wouoda ayeudosdde yum ‘Aeanebou Sejwoucae
waye | uojesieqoifop moy jo siskleue ue sepimoid semsuy

SHeN

i0yd55eq

oA

'S8jwouode Jabie|
Uy} pejosye A|@SJEAPE SI0W 84 ||M SBILIOU0OS Jajjews ‘uonestieqolbop yum ‘acusi

A"

More papers available at www.testpapersfree.com




BP-~686

More papers available at www.testpapersfree.com



BP-~687

LW ay wouy sysew Ayfenb yBiy ay) seaup siaAng peunojul
sse] Aq peseyo eoud abesene, sy ‘sysew Aenb mo| ymm pejenussuos ABuisessou;
S8luo3aq Jexlew aL pue 1exIewW SUY) 8ARE| PINOM ,SBLLIBYD, JO SIS|1aS BJ0W pue aJop "ssoud
obelene, Jomo| AjBuiseainu) tsyo o) siahng spes| SIUL “lle} (M Jadew dsew ojqesodsip
3y} u sysew jo Ayenb ebelere ayy ‘Buiof JSuowsj, alout pue jexew ay Buaes)
«S8laYd, UM “sisew Jiey) jjes o) Buljim aq pue ojqejdedse soud ay) puiy pnom LSuows,
10 sI9)|8s ‘puey JBYI0 BY} UQ JONEW By} BABS| PINOM ‘sousy pue 8oud abesaae ay) Jo)
sysew s|gesodsip Ayjenb poob yau} es o) Buymun 2Q pjnom ,Salsyd, JO SI9)|8S ‘Jaramop

*(,uows), & 10j uey Jaybyy Inq ‘ Aueyo, e 10} ueY) J8MO|)
SYSeu 8y} Joj uowel, e pue ,Ausyo, e Jo enfeA sy Buibeiere soud e Jeyo pinom si9Ang
‘yons sy ‘sysew s|qesodsip ay} Jo piepuels ay) uo uojjeuuojul sxyoe} JaAng ay; ‘,uowsay,
e o} soud mo| & pue Audyo, e Joy aoud ybiy e Aed o} Buijim eq pirom JeAng e ajym

‘goud
Mo e jdaooe o} pasedaud s) 8y ‘,uows), B 104 "aoud yBiy e pasayo si ey y Ajuo ysew ay) [jos
0} patedaid a10j018) S) ALBYD, B JO JB[|8S BY) “WaY) 0} umou; s yoym sxsew auy jo Ayenb
8y} uo paseq sj 1daade o} Buym ale sis|jes Jey) soud oy Aouspye uonen|ly sy; Jo mouy Jou
WBWw oym ‘s1aAnq sy op ueyy (-o)e pasn ssahe| uoneny ay) jo sseusamgaye ey ‘6'e) Buyjes
ale Aay) sxsew ay) Jo Ayend iy Jnoge 10w Mowyj ‘sisew soey e|qesodsip Jo sIv)es syl

‘( suoway,
Se umoun osfe) siake] uojesyy sAjdsyaul yum asoy) ‘B'e sysew aoey Ayenb Jood pue
(.seIeyo, se umouy osie) sysews aoey siqesodsip Ayenb ybiy yioq aq pinom siey; Yexiew
8y} u| "sysew adey sjqesodsip Joj Jaxew ey} up usddey uea sy} “siedng ay) ueyy uonewIoUl
alow yonu sAey Aew Si9||9s 8y} BIGUM S) UOHBULIO] SUBWWASE jo adk) 8uQ -oeuIWASE
SI JeonpoJd pue JBWNSUCD USeMIaq UOHBLLIOI USYM INIZo URD uonosies esseapy [3+3]

‘uopoB|as ssionpe
jo Aynqissod ay; s1 aunjle; uonewlOUI S| BI9Y) USYM BINYIE) JaXIBW o} uoseal Jayjo suQ [d]

'80UBRIOUB] JOLINSUOD S| 818Y) USYM SYSEW
89e} Joj 1diew 8l uj ain|fe} JedEL 10} LOSES! SUO S| BouBIOUB) JOWNSUOD ‘Yons sy [1]

‘W B31e J0 S50| a1ejlem & 0} pes| SNU} SHUN D JO UORAWINSUODIBPUN S| "ISOD [BI00S
[B10} O} UBL) Jysuaq [100s [ejo} O} SI0W SPPE SNY} JUN alow Buo BuINSUOD ‘DS uey
Jaybiy s1 S LD Pue D usaMEq UN AIaAS Jo "aouesoubl Jaunsuoo jo esnedtaq sysew
asey jealbins Jo uopdwnsuooiepun snyy s| aseyy D Je OSI = 9SIN 219ym S| pasiuxew
S| 8Jj{am S1oYM ININO Jo |oAs| jewndo Alelo0s ‘Joremol ‘(1 Bi4) d eoud pue © ndino
e Aiddns sajenba puewsp sieum aq [IM BwodNo 19jew ‘jexseus say oy o} Yo [I+3]

SSEW 98] J0j JOVIERN |1 8Inblg

risyeay
30 Amueng ki) el 0

{aq) BN ponessey,

{senypuIeixe SAtod
ou BuLINSSS) BSW = B PN,

OSW = OdW =SS

siyeUey / 51500

(OsI) 1500
lewos jeujbiew sejenbs (OgiN) 1500 areAud jeuibrew ajiym (as) Jususq {eoos reuibiews
ay) serenba g4 any} ay) ‘senieuleXe ou Buwnssy ‘GdiN peaeosad sjo8pel Snyy BAIND
puewsp syl ‘ddi\l Paaisased uo puewsp nay) aseq siawnsuod (1'6i4) gdin eny uey)
Jamo} aq |im Bupesm-isets woy (g4K) weusq ajeaud jeuifiew paasaled ‘yons sy ‘Apadoud
ysew aagosye ue Buueam woy pakofue aq ues jey) syeusq any ey} ejewnsesepun Aew
SI18WNSUOD ‘SNOJAQO Ajajelpawiwl 8q jJou Aew sassauy| woy uoyosjoid pesessou) se yons
SIBUIQ BWI0S B18YM ‘SHySeLI 808} JO ased aly) u) ‘sjduiexa 104 "82IAI9S Jo poob e BulINSLOD
w0y pautejqo eq ued jey) sjysusq sy UO uopeuLo [N} doe] Aew SiBWNSuo) [I+3)

‘sysew soe} [eaifins 10} J8)IEW BY) L) S80IN0SE] JO UONEIO)E
JusiowaU; Ue O} pes| pnoo siy) pue esueIoUB) JBWINSUCD S| BINJIR) 1SX}IRW 4O} UoSEa) BUQ [d]

"posAjeue aq 0} Jexiew ysew soey [ea16INs oy ul senjewIS)XS
Ou @iy} jey) SWNSSE |M M ‘UOPBWIOMU) Joapadull U0 SNoo) 0} sisAleue oyy Amdwis
0} 'AeSSa Siy) U] JOYI0 B UBL) UOHBULIOJU} SIOLL SEY JOYIELW Y} JO SPIS BOUO UBYM puE
PSjewsaiapun J0 190 8. S)S02 JO Sjysusq aloym ‘uojeuriojul Joapedun Aq pasnes aq ues
Sil} puB PaLNId0 SBY aunjie} Jexsew ‘sjadewr uj Ajuajoyjeu) Pajeasjie ale SSOIN0SAL USUM

uonanposuj

ITBMSUY pajsenbng

"@1n|fe} J2XIBW O} PES |IIM LONIBJES SSIBADE JO BSED BY} U} UCKEULION] JMSWIWASE MOH 12
"81njfe} jodiew 0} pes| jiim soueloub) Jewnsuoo o) Buipes) uonewIo] JoapedwI MOH 1LY

"ainje} Joxyuew
40 S30IN0S OM} JO S109Y 8 pue SsNEd U0 Uopsenb e s sy Jey) esiubodal 0) ale sjuspnlS
yoeoiddy

(e) weq

[s1] sainjiej Ja)tews asay) Yyoq 3991109 0}
juswuianok asodebug ayy Aq pejdope aq ues jey) setolod aAapeuls}je ayy ayenjeaz (q)

IoL) "SYSBLW 901} JOJ JOIE B} U SIVINOSAL O UOHEIO][E JUSIOLJOUI
Ue 0} peaj pinod uojeuMojul SljewwASe pue soueioubl sewNSUoD Moy urejdxg (e)

*stohe|
uoneslly eAndejeU] )M SHSEW PIEPUE)S-GNS BJR YIIYM SYSEW 8Ie) o)) jo ojes Buisi
mes aiodebulg ‘pousd swes jeyy Bung ‘6L-QIAQ9 JO pessds aY) wouy 1013aq jjasauo
jo83j04d ues sysew a9e} jo Bupeam ey ‘sieyjo Buposajosd sepisaq jey; peyybyybiy
31 "Spioyasnoy jje o) s)sew sjqesnal pajnqgrysip Juswulaaob ssodebuig sy3 ‘0zZoz uj

. uonsany
swIvYdg Yiey pue siomsuy
rA ._aam."_ wex3 wiaid soIwouod3 ZH zZzZoz

869|100 Joluny euo)OIA

More papers available at www.testpapersfree.com




BP-~688

[L] This leads to market failure because the potential welfare to society that can be obtained
from buying and selling high quality masks is lost.

Mark Scheme

Descriptor Marks

Thorough explanation of why consumer ignorance and adverse selection
L3 | can lead to market failure in the market for face masks. Provision of { 8 —10
contextual examples and use of accurate and well-labelled diagrams.

Underdeveloped exptanation of two reasons why information failure can lead
to market failure.

L2 | OR 5-7

Thorough explanation of only one reason why information failure can lead to
market failure — Max 6

Mere statements without explanation. 1-4

L Major conceptual errors.

Markers’ Comments
SKILLS

uestion interpretation

e The main shortcoming was failure by students to realise that the issue of asymmetric
information in the content requirements of this question is about consumers buying poor
quality face masks and a complete analysis of this phenomenon requires the application
of the concept of adverse selection. This is because consumers might be fooled by false
information provided by fake face masks sellers. But even after they learn that there is
the possibility of being conned, consumers simply do not know which masks are poor
quality and which are good quality and so only offer average prices leading to the
adverse selection problem where the good quality masks market eventually disappear.

e There were students who explained that imperfect information led to consumption of poor
quality masks and attributed this to supplier induced demand but they missed out on
explaining the under-consumption of good quality masks due to ignorance about the true
MPB of good quality masks.

Learning point: For this question, analyse 2 types of market failure. i)
under-consumption of good quality masks; ii) rising sale of poor quality (fake) masks

e While many scripts provided an accurate analytical explanation of market failure due to
ignorance about true MPB, marks were held back by lack of contextualisation of the
explanation - i.e. there was no explanation of what the consumers were ignorant about.

Learning point: Contextualisation of explanation shows application to context which
wins you more marks.

CONTENT (Major misconceptions)
e Application of externalities in this question

Correction: When the question is about imperfect information, the market failure is
not about the disregard of positive externalities by consumers in decision making.
The market failure due to disregard of positive externalities has to do with the pursuit
of self-interest. Consumers know about the MEB but they do not include it in their
decision making. Rather they only weigh MPB against price in their buying decisions.

In other words, in the case of externalities, economic agents are self-interested and
disregard the external costs or benefits in their decision making. Whereas, in the
case of consumer ignorance, consumers are ignorant of the benefits/cost to
themselves.

e Wrong identification of the welfare loss triangles

Part (b)
Approach

Students are to evaluate at least 2 policies to correct the market failure associated with
consumer ignorance and adverse selection in the market for face masks. There will be a
heavier-than-usual contextual requirement for this question as it is explicitly stated in the
question, so the analysis must be backed up by real-world examples.

R1: Explain how a policy by the Singapore government could improve allocative efficiency in
the case of consumer ignorance and adverse selection in the market for face masks.

R2: Explain how another policy by the Singapore government could improve allocative
efficiency in the case of consumer ignorance and adverse selection in the market for face
masks.

Evaluation marks:
Well-argued evaluative judgements should be made about the effectiveness of the various
policies, taking into consideration the context of Singapore.

Suggested Answer

Introduction

One objective of the government is to achieve allocative efficiency, where resources are
allocated in a way which maximises societal welfare. Consumer ignorance regarding the
benefits of wearing face masks which leads to an under-consumption of masks, as well
adverse selection, leading to an over-consumption of sub-standard masks will result in
allocative inefficiency explained in part (a). As such, the government must intervene to
correct these market failures in the form of public education as well as government provision.
The policies can be evaluated based on certain criteria, such as the extent to which the
allocative efficiency has improved, the fiscal sustainability as well as whether it leads to a
trade-off with the micro-economic goal of equity. (Alt answers: strict regulations).
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[Ev] However, even if consumers are well-informed on how to choose high quality masks,
there will be pockets of the society who would not be able to afford these “cherries”. In some
cases, they may still choose to consume “lemons” as the “cherries” could be beyond what
they could afford, and they market for face mask will still be allocatively inefficient.

Regulations

[P] The Singapore government may also impose regulations to directly influence consumers’
behaviour.

[E+E] For example, the government made it mandatory for face masks by everyone above
the age of 2 to be wom at all times in public spaces. Individuals who flouted the rule by
refusing to wear a mask were fined and recalcitrant offenders were prosecuted in court. By
enforcing mask-wearing, this ensured that the optimal quantity of face masks was being
consumed when there was consumer ignorance,

[L] correcting the market failure due to under-consumption in the market for face masks.

[P] Government regulations could also lead to better outcomes in the case of adverse
selection in the market for face masks.

[E+E] By regulating the importing of masks (e.g. from approved mask producers only), local
mask producers must meet certain standards and filtration capabilities before they are
approved by the HSA to manufacture masks. This would therefore incentivise producers to
produce high quality masks, and producers of fake masks will leave the market if they know
that their sub-par masks will not be demanded since consumers are able to now distinguish
between a “cherry” from a “lemon”.

[L] Hence, the allocative efficiency in the market for face masks will improve -with strict
regulations imposed by the government.

[Ev] However, regulations require active monitoring and enforcement by the task force and
legal teams, which would require the use of public funds and can be difficult to sustain in the
long run. A frequent lack of punishment might lead to people flouting the rules more often
and reduces the effectiveness of the policy in reducing consumption levels.

Conclusion

[Stand] With all things considered, public education by the government is the best policy to
solve the problem of imperfect information in the market for face masks.

[Substantiation] This is because giving consumers more information will reduce the extent of
information failure greatly and help them to make better choices. Even if the consumers are
not very respansive to the campaign, any change in the demand closer to where demand
would be shouid consumers have full information would mean market output is now closer to
Q*, and there would be a smaller welfare loss.

However, this has to be complemented by other policies such as government regulation and
free provision. Govt regulation is needed for more immediate impact in correcting the market
failure since it takes time to educate the public. Free provision is needed because lower
income households may not have the means to have access to these goods, even if they
have perfect information on the true benefits of wearing it. However, there should not be
continued free provision of face masks for all households. Since the education leve! of the
Singapore residents is quite high, this means that left to market forces, the

under-consumption level is not that high. With the perceived MPB not being that much lower
than true MPB, free provision is more likely to lead to greater welfare loss. Thus, free
provision should apply only to residents who can't afford face masks.

It is also impractical to solely rely on public education to address the fake mask problem
because even with knowledge of what constitutes a good / effective face masks, consumers
will not know whether the sellers are being unscrupulous in hiding information about the poor
quality of their masks. Government regulation of the producers is thus needed. With
Singapore, being a relatively small country, the implementation of strict govemment
regulations is also financially feasible.

Mark Scheme
Descriptor Marks

A balanced and well-developed answer on at least 2 policies used by the
L3 | Singapore govemment to address imperfect information in the market for | 8 -10
face masks, with consistent use of examples.

An under-developed answer on policies, with inconsistent use of examples
L2 | and gaps in analyses. Some minor conceptual errors may be present which 5-7
does not hinder overall analysis.

L1 | An undeveloped answer where points are merely stated or listed without 1-4
elaboration. May contain theoretical errors.

Strong substantiation of stand, with at least two different considerations of
how a policy could be better than the other, in the case of information failure,
in improving market outcomes. Contextualisation using example(s) is
provided.

E3

Some attempt at a conclusion or evaluation regarding the policies that
E2 governments can use to tackle the information failure in the market for face 2-3
masks, but does not explain adequately their judgement or base it on
analysis.

E1 | Relevant stand without substantiation. 1

Markers’ Comments
SKILLS
Question i .

e There were students who wrongly thought that the word ‘alternate’ in the question
meant thatthe student had to consider policles that were different from the one
mentioned in the preamble (provision of free masks). Actually, the word ‘alternative’
just means that the student needs to consider more than 1 policy for each of the
problems.
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Holding demand unchanged, this fall in supply will lead to a shortage at the initial price, Pe
that creates upward pressure in price. Using demand curve, D(hawker), the fall in supply
creates a shortage at the initial price, Pe. As price rises, producers are now willing to offer
more units for sale at higher price levels. As the price rise, there will be a fall in quantity
demanded as some consumers reduce their consumption at higher price levels. This
adjustment continues until a new equitibrium is established.

[L] This process eventually leads to a rise in equilibrium price from Pe to Py,

Figure 1. Fall in supply leads to a rise in price of food

Price N
) ,, s .
Pg
11
Pe i )
: shortage” - O (hawker)
: : D {rest}
! . .
Q, Qg Qe Quantity/t

[P1 The difference in the price elasticity of demand for food in restaurants vs hawker centres
leads to the difference in the rate of increase of food prices

[E, E} The demand for food in restaurants tend to be more price inelastic relative to the food
in hawker centres. This is because there are more available substitutes such as fast food
that are in the same price range for hawker-centre food compared to those provided by
restaurants. Food in restaurants is usually produced by renowned chefs and has lesser
substitutes in its price range.

in contrast, it is easier to find similar dishes in different hawker centres such as
home-cooked food or fast food that are in the same price range. Hence, the demand for food
in hawker centres tend to be more price elastic while that for restaurants is more price
inelastic.

When there is a rise in energy cost, the supply curve for food will fall since it is now more
expensive to produce each unit of food. As seen in Figure 1 above, the upward shift in the
supply curve from S to S’ leads to a more than proportionate fall in quantity demanded for
food produced in hawker centres (from Qe to Q) while that for restaurants fall from Qe to

12

Q. This is because the less price elastic the demand, the greater the rise in price that is
needed to clear the market.

[L] As such, the rise in price for food in restaurants is more significant than those produced in
hawker centres.

Alternative response:

[P] The difference in the magnitude of shift in the supply curve for food produced in
restaurants and hawker centres will also lead to a difference in the rate of increase in food
prices

[E, E] In addition to the difference in PED value for the demand for food in restaurants
versus that in hawker centres, the rise in energy cost will affect these two types of producers
differently. Energy costs is a bigger percentage of total costs for restaurants because of the
size of their operations. Restaurants need to provide dedicated seating and space for their
patrons only while hawker centres make use of shared spaces for their customers. In
addition, most restaurants are also air-conditioned that leads to higher operating cost. As
such, restaurants will experience an upward shift in their supply curve to a larger extent
compared to hawker centres, assuming demand for restaurant food and hawker food have
the same price elasticity.

[L) Hence, food prices in restaurants will rise to a larger extent.

Conclusion

Given the relatively more price inelastic demand, an upward shift in the supply curve of a
greater extent will result in food prices in restaurants rising more significantly than that in
hawker centres. Since food in hawker centres have more available substitutes, its demand is
more price elastic. Although its operating cost may rise when energy prices rise, the supply
curve shifts upwards by a lesser extent.

In our analysis, we have assumed that the demand remains unchanged and all other factors
are assumed to be constant.

Mark Scheme

Level /Marks Descriptors

L3 Detailed explanation of how a shortage leads fo a rise in price and how

8-10 the difference in PED value affects the price of food in restaurants and
hawker centres differently analytically.

L2 Cursory / descriptive explanation of how a shortage leads to a rise in

5-7 price and how the difference in PED value affects the price of food in

restaurants and hawker centres differently analyticaily.

or

Well-developed analytical explanation of how the difference in PED
value for food between restaurants and hawker centres leads to a
difference in rate of increase in price OR how the rise in energy cost
leads to a shortage that results in the increase in price of food

L1 Shows relevant knowledge of how rise in energy cost leads to a rise in
1-4 price of food in general (ie. DD-SS framework)

Markers’ Comments

SKILLS
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Price ?
$} s
S
Py
Pe -
D ?ms.x,m,m w vaucher)
D ?w?rm:

v
Quantity/t

As seen in Figure 2, the rise in energy cost has resulted in a fall in quantity demanded for
food in hawker centres from Qe to Q as prices rise from Pe to Py,. The provision of food
vouchers will result in a rise in demand for households from D (hawker) to D (hawker w
voucher) because these vouchers are equivalent to cash that can be used for the purchase
of food.

[L] Hence, we can see that the rise in demand due to the food voucher has resulted in a rise
in quantity of food from Q to Q.

[EV] Assuming market was initially efficient, the fall in supply would have led to a market
outcome at equilibrium point e where the price is P, and quantity is Q.. The implementation
of the voucher would increase consumption to Qy, that leads to welfare loss of area eab. The
larger the amount of voucher given that raised consumption, the larger the welfare loss area.

[EV] The value of food vouchers needs to be sufficiently substantial to make a significant
difference to help improve their access to affordable food. As such, the funding requirement
for this initiative can be challenging, especially if there are fiscal constraints faced the
govemnment. In addition, there may be other trade-offs when the government decides to
prioritize spending in this undertaking that may affect other areas of fiscal spending.

[P] The Singapore government can also provide subsidies to food producers to reduce the
price of food.

[E, E] A subsidy that is given to food producers will lead to a downward shift in the supply
curve. This is because for each unit of food produced, the subsidy will reduce the cost of
producing that additional unit.

Figure 3. Subsidy to producers increases quantity demanded

16

Price
$)

D (hawker)

Q, @, Qe Quantity/t

As seen in Figure 3, the subsidy will shift the supply curve from S’ to S”, mitigating the
upward shift caused by the rise in energy cost (S to S'). This subsidy will result in a new
market equilibrium at point E” where the equilibrium price is Pe’ and quantity demanded is
Q. While the consumption level is still lower than Qe, it is now higher than that without
subsidy.

[L] Hence, a subsidy is able to help households increase some of their consumption through
the lowering of price of food.

[EV] Assuming no externalities and so Qu is socially optimal, the subsidy leads to
over-production by Q' — Qu units, leading to allocative inefficiency. As seen in Figure 3
above, the subsidy has resuited in an artificially lowered marginal cost, S” compared to the
true marginal cost, S'. As such, there will be a welfare loss of the shaded triangle because of
the allocation of resources to lower the true marginal cost.

[EV] Such subsidy would have a heavy burden on the government especially if the rise in
energy cost is substantial.

{P] A maximum price may also be used to reduce the price of food.

[E, E] A maximum price is set below the market equilibrium price. It is the highest price that
producers are legally allowed to charge in a market. As seen in Figure 4 below, the rise in
energy cost shifted the supply curve from S to S’ has created a shortage of Qe — Qe". As a
result, the new equilibrium price will rise from Pe to Pe’ and new equilibrium quantity from
Qe to Qe’.

Let us assume the maximum price is now set at Pmax. Doing so will help to lower the price
of food.

{L]1 As such, a maximum price is able to lower the price of food.

[EV] However, such price control measure leads to shortage. At this price, consumers will be
willing to consume up to Qc. This is because the lowered price will increase the quantity
demanded for food. However, producers of food are only willing to offer Qp because the
lowered price will also lower their willingness to offer more for sale. Hence, a greater
shortage of Qp-Qc is created. Assuming the market to be efficient, the production of only Qp
units, which is an under-production in relation to the socially optimal level of Q, (assuming
no extemalities) leads to welfare loss of the shaded area abc. This policy also creates other
problems in the distribution of it. In this case, an appropriate allocation system will need to
be present to ensure the poor also have access fo food. Without perfect information, it will be
difficult to ascertain what level to impose the maximum price.
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would be given out to lower-income households, so the increase in affordability of
food only applies to them.

Evaluation

e Most of the evaluations were superficial — e.g. when the government provides
subsidies and vouchers, there will be opportunity cost involved, or it will strain the
government fiscal budget, or a maximum price wi | worsen the food shortage.

o For example, in evaluating the appropriateness of food vouchers, quite a
number of students talked about how the demand for food wilt increase as a
result of the food vouchers, and hence the price of food would rise again.
Students will need to go on to explain what is so bad about the rise in price.
Firstly, the rise in price does not adversely affect the beneficiaries
(tower-income households who receive the food vouchers). Instead, middle to
higher-income households would thus face an increase in the price of food.

e The question clearly required some form of comparison between the strength and
weaknesses of proposed policy measures to substantiate the stand made. For
example, a comparison can be made between the weifare ioss from using vouchers
versus the welfare loss that emerges from the subsidies or the implementation of the
maximum price (price ceiling). Students may also consider the ease of
implementation or short-term impact of the policy.

e Most of the evaluation was also not contextualised to Singapore. Given that the
proportion of low-income households is relatively small in Singapore, the food
vouchers given to these households may be more effective than a blanket subsidy to
tackle the unaffordability issue. Aiso, students should not just point out that
Singapore has high reserves and may be able to afford to carry out a particular
measure. Instead, the context of the question/nature of Singapore's economy should
be considered, e.g. how sustainable are the policy expenditure if energy costs keep
rising and the need for the budget to be allocated to healthcare policies for our
ageing population.

CONTENT (Major misconceptions)

s A few students explained that food vouchers are a way to reduce MPC and increase
the supply of food. This explanation is incorrect as vouchers increase the ability of
consumers that receive the vouchers to buy food. The increase in food consumpfion
by lower-income households through these vouchers shouid relate to the increase in
demand for food.

e Note also that vouchers will not reduce the price of food for lower-income
households, nor will they increase their disposable income.

e Quite a number of students attempted to explain subsidy on food as a means fo
reduce allocative inefficiency, i.e. they assumed there were positive externalities from
food consumption, which is flawed. Such students also drew diagrams that show a
divergence between MPB and MSB, aithough this was not explained most of the
time. in any case, there are no positive extemalities involved in this question, and the
government would only be intervening for equity reasons.

Question 3
Nike is the market leader in the global sports footwear industry. Nike's business
strategies include building its brand through sports celebrity endorsements,
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developing products that have high-quality, market-leading technology and acquiring
competing sports brands.

(a) Explain two ways in which a profit-maximising firm like Nike could benefit from

acquiring another firm in the same industry. [10]
(b) Discuss the view that governments should stop flrms from acquiring other firms In
the same industry. [15]
Part (a)
Approach

Students should explain the two ways that firms can benefit from an acquisition of a firm in
the same industry (i.e. horizontal integration). Acquisitions allow firms to benefit from (i) cost
savings arising from producing at a larger scale, and (ii) charging higher prices due to
greater market power.
R1: Explain how the acquisition of another firm in the same industry can lead to cost savings
that boost total profits
R2: Explain how the acquisition of another firm in the same industry can lead to higher TR
that boost total profits.

Qutline

Introduction
An acquisition refers to the situation when a firm buys out and takes ownership of another

firm. Firms may decide to acquire another firm in the same industry to pursue cost savings
and/or increased market share, with the underlying motive of maximise profits.

Body

[P] Acquisitions can benefit a profit maximizing firm as it can lead to cost savings
arising from greater internal economies of scale

[E, E] The increased scale of production from the acquisition may lead to greater scope for
reaping interal EOS, which refers to fall in AC arising from increased scale of production of
a firm. For example, Nike had acquired another sneaker company Converse. This may allow
Nike to utilise bigger capacity machines or warehouses for distribution. Total cost may
increase less than proportionately to the increase in output produced. This is as the firm only
needs a less than proportionate increase in number of workers to operate larger capacity
machines or when the storage volume of the warehouses rises more than in proportion to
their building costs, due to cost savings with increased scale. This allows the firm to enjoy
lower average cost of production.
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possible to explain how the profit-maximising condition changes without a
change in MC.

e For those who did explain how the gain in EOS allows the firms to earn higher profits,
there were many that incorporated examples to illustrate this concept. However, the
examples were merely listing of how specialisation of labour or capital helps the firm
to achieve greater EOS. Most did not use their examples to explain the idea of cost
savings for the firms. For example, by having specialised workers which lead to
higher productivity, more output can be generated and hence the cost of hiring them
can be spread over a larger output level; and the firm is able to lower its unit cost of
production. They should also give examples of firms that Nike can buy over, to show
the awareness of the context instead of just saying 'other firms'. Also, the concepts of
indivisibilities of capital and the principle of increased dimensions are distinct, but
some treated them as one as the same.

e Some students have missed out on cost-side benefits of intemal EOS and instead
explained an indirect explanation of how higher profits from higher market share
allows the firm to carry out cost-saving strategies such as process innovation. As this
impact is indirect, it will not be considered for full credit.

On increasing market share
e Many students concluded that the rise in market share from acquisition would lead to
a monopoly market structure. This is not always true, as it depends on the
firms/industry involved. Instead, the student should use this as an evaluation angle in
(b), that a resultant monopoly market structure can be highly detrimental, as
compared to a resultant oligopolistmonopolistically competitive market structure.

On profit-maximisation

e Some students used one diagram to show both effects (increasing market share and
internal EOS). While valid, it must be carefully analysed. A number of these students
identified the wrong | andfor final profitmax conditions, and subsequently
identified wrongly Q, P or AC levels, and hence profit areas.

e Students that did not score full credit for analysis tended to miss out on explaining
the initial and final profit-maximising conditions (where MC=MR) using the
diagram.

ONTENT (Major misconception
s Some scripts wrote AC as actual cost. This is not correct. AC refers to average cost,
and there is no specific term called actual cost.

Part (b)

Discuss the view that governments should stop firms from acquiring other firms in the
same industry. 1151
Approach

To discuss the view that governments should stop firms from acquiring other firms in the
same industry, students need to consider the pros and cons of acquisitions based on
government’s microeconomic objectives of efficiency and equity. As the question does not
specify the industry chosen, students can evaluate the view based on the nature of different
industries.

R1: Explain at least 1 reason why governments should stop firms from acquiring other firms
in the same industry

R2: Explain at least 1 reason why governments should not stop firs from acquiring other
firms in the same industry.

The judgment will require weighing the arguments for and against by considering the type of
industry, with examples.

24

Qutline
Introduction
Governments examine the pros and cons when it stops a firm from acquiring another firm in

the same industry, based on the impact on society as a whole, considering the impact
on efficiency of resource allocation, rate of innovation and equity.

Body
Arguments for government stopping acquisitions

[P] Governments can prevent the combined firm from abusing its higher market
power, which can lower aliocative efficiency and consumer surplus.

Price/
Revenue
f Costs

DD’ =
DIARAR

! ‘ .h
0 Q0 T quantity / t

Figure 3 — Showing allocative inefficlency before and after acquisition
[E+E] The acquisition result in increased market power and hence greater welfare loss. With
reference to Figure 3 above, before the acquisition, the welfare loss is represented by area
abc. This welfare loss is due to underproduction since for the units between the initial profit
maximising output level, Q, and the allocative efficient level, Q* (where DD cuts MC), P>MC.
This means society values each of the units more than the MC of producing it yielding
a net gain for soclety. By not producing those units, society lost the potential gain in
welfare of area abc.
After the acquisition, the new price is higher at P’, which creates a larger divergence from
the allocative efficient price level (P' > MC at Q**), and consequently the welfare loss is
represented by area def. The underproduction now is larger, between output Q' and Q**
units (the new allocative efficient level is at Q** where DD’ cuts MC). This area of welfare
loss def is now bigger than the initial area abc. [L] This results in greater allocative
inefficiency.
[E+E] Consequently, with higher prices, consumer surplus falls. Consumer surplus is defined
as the difference between the price that households are willing and able to buy goods at and
the price they actually pay. Assuming that the demand curve for the market remains the
same, the higher price causes the consumer surplus to be lower.
[P] Governments should stop acquisitions as it may prevent greater inequity in
distribution of goods and services
[E+E] As the expanded firm enjoys greater market share, it will face a higher demand as
the firm captures a larger share of market demand. The firm will also have a more price
inelastic demand as there are now fewer fims in the market after the acquisition, which
means there are fewer substitutes available. As a result, consumers are now charged a
higher price of P, while firms enjoy an increase in profits from [(P-C) x Q] to [(P-C") x
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under-consumed in a competitive market. The increased market power will worsen the
under-consumption of such a good. By not allowing the acquisition however, the potential
benefit of increased R&D is sacrificed. But this problem can be reduced if the government
funds R&D in medical care.
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Mark Scheme

Leve | Descriptors Mark
1 []

L3 A balanced discussion, with well-developed explanations of why governments | 8-10
should stop and allow acquisitions, using economic tools of analysis. Possible
tools of analysis include allocative (in)efficiency (P>MC), dynamic efficiency,
inequity. Appropriate use of tools of analysis will be awarded the “analytical”
band.

L2 Underdeveloped analytical explanation or largely descriptive explanation of the | 5-7
factors that governments should stop and allow acquisitions

OR

A well-developed but one-sided answer on govemments should stop or allow
acquisitions. (Max L2 - 6)

L1 Mere statements without explanations OR explanations contain major 14
conceptual errors.
E3 In-body evaluative comments are made and are backed by real world examples | 4-5

and economic analysis. Arguments are synthesized and presented in a
well-reasoned manner, on whether governments should stop or aliow
acquisitions.

To achieve E3, at least two industries are required.

E2 Some evaluative comments/attempts at making judgements using economic 2-3
analysis, on whether govemnments should stop or allow acquisitions. Link to at
ieast one specific industry is made.

E1 Unsubstantiated judgments on whether governments should stop or allow | 1
acquisitions.

Markers’ Comments
SKILLS
o A fati
e Question was generally well interpreted. Most scripts accurately discussed the pros
and cons of the acquisition, albeit in varying levels of analysis.

Analytical &

examples)

e Choice of arguments are cruclal for this question, as there are some points that are
clearly more analytical than others. (e.g. allocative inefficiency and dynamic
efficiency being preferred to X-efficiency, inequity)

s Students who explained allocative inefficiency from market power tended to stop at
showing the presence of allocative inefficiency from market power, rather than a
worsening of allocative efficiency from increased market power from the
acquisition. Learning point: Need to discern a “change” (worsening allocative
inefficiency) from a “state” (allocative Inefficiency).

e Students who explained dynamic efficiency and missed out on full credit tended to
miss out on either expiaining how higher profits lead to a higher ability to conduct
R&D, or explaining how product or process innovation improves society’s outcomes
in the future (either through better quality products and consumer welfare, or lower
prices from cost savings and a rise in consumer surplus).

e Also, many pointed out that dynamic efficiency may occur since the acquisition
results in supernormal profits, which gives the firms the ability to innovate. However,
to make such an argument, students must make the assumption that this
supemormal profit is sustained for thorough analysis. Firms can only sustain their
supernormal profits should the industry they operate in has high barriers to entry.
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[P] The closure of international borders will result in a fall in the AS for an economy.

[E, E} The fall in the aggregate supply (AS) for an economy may be caused by a rise in the
unit cost of production (UCOP) or a fall in the productive capacity (LRAS). The closure of
international borders may lead to a fall in the quantity of factors of production (FOP) that is
needed for production. Such a temporary shortage would lead to a rise in price (wage for
labour), leading to a rise in cost of production.

For example, raw materials are now more expensive due to supply chain disruptions
(shortage of workers globally that leads to rise in shipping costs). For a country like
Singapore that lacks natural resources, the rise in raw material cost will lead to a rise in the
UCOP. Hence, there will be a fall in the AS.

In addition, for a country like Singapore that relies heavily on foreign workers from Malaysia,
she may suddenly face a shortage because these workers are now unable to cross the
border to work here. This would also lead to a rise in the UCOP, leading to a fall in the AS in
the short term. If this is prolonged, the overall capacity of the country would fall because of
the reduction in the quantity of labour in the country.

{L] Hence, the closer of international borders can affect both the UCOP as well the
productive capacity of a country, leading to a fall in the AS.

Figure 1. Shifts in AD and AS due to closure of international borders

General
Price
level :
AD2 - AD1 ,ﬁ
¢
, _
|
pat. A2
,
Pl ) T Real
output
Y3 Y2 Y1 ;

St ¥f

Note: We omit the explanation on the impact on vertical AS (potential growth) because if the
economy is not operating in that region, the immediate concern for the government would be
on actual growth.

[P] The fall in AD and AS will have negative impact on an economy.

[E. E] Initially, the economy is operating at AD1 and AS1 where the equilibrium national
income is Y1 and the full-employment output level is at Yf. As seen in Figure 1, the falt in AD
is illustrated by a leftward shift in the aggregate demand curve from AD1 to AD2. When that
happens, there will be an unplanned rise in inventory levels that causes firms to cut down on
production. As the firms do so, household incomes will fall because firms now hire lesser
workers. This fall in income will result in a fall in induced consumption of domestically
produced goods/services that leads to a further fall in AD. This will result in firms cutting
down on production again that leads to further fall in households’ incomes. This process will
continue until total injection = total withdrawal and a new level of equilibrium national income
is achieved. Correspondingly, there will be a rise in demand-deficient unemployment due to
increase in output gap of Y2-Yf.

The fall in the AS is illustrated by an upward shift in the AS curve from AS1 to AS2. As the
UCOP rises, there will be fall in national income (due to a fall in the wealth effect) from Y2 to

32
Y3 that is seen in the movement along AD2. One reason for the upward movement along the
AD is the real wealth effect where the fall in real wealth discourages consumption.

[L] The resultant effect of a fall in AD and AS is a fall in national income (Y1 to Y3) and
rise in the general price level (P1 to P2).

Congclusion
The prolonged closure of international borders will lead to fall in actual growth and result in

inflation for an economy. The degree of these negative consequences of will depend on the
initial state of the economy and rise in the UCOP.

Mark Scheme

Level / Descriptors

Marks

L3 Detailed explanation of how the closure of intemational borders will lead to a fall

8-10 in both the AD and AS for an economy, with the aid of a diagrammatic
analysis. The explanation on the negative outcome on the general price level
and the national income should be supported by the multipiier process.

L2 Explanation of BOTH a fall in AD AND fall in AS, with some gaps or errors in
5-7 diagrammatic analysis (i.e. cursory explanation or without multiplier process)

Max 6m: Detailed explanation of either fall in AD (with multiplier process) OR a
fall in AS with impact on national income or general price level.

L1 Explanation that lacks understanding of how a closure of international borders
1-4 affect the components of the AD or AS

Eg. Fall in X without explaining why or mistaking fall in tourism as a reduction in
C.

Markers’' Comment
SKILLS
. L tati

e Given that the question explicitly stated for students to use AD-AS analysis, it should
be a big hint that both AD and AS factors are relevant to this question. Some scripts
only focused on (multiple) AD factors, which resulted in a lack of scope. Whereas
some considered the impact on BOT and structural unemployment, which is not
answering the question (no application of AD-AS analysis for these impacts).

e Students can also gather clues from the rest of the question. Part (b) requires the
discussion of different policies to deal with the consequenceg from part (a). This
should thus be a clue that the part (a) response needs to arrive at two distinct

e For R1, when explaining the fall in AD due to the fall in tourism arrivals, the relevant
AD factor is X, not C, as tourism involves foreign households consuming our
domestically produced goods and services.
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[E, E] An alternative policy to boost AD could be expansionary monetary policy. For
example, a country like the US can do this viaa reduction in the interest rate. When interest
rates are cut, households may be encouraged to consume more because the opportunity
cost to do so would have fallen. This is because the utility to consume is now higher than the
interest payments derived from deposits. At the same time, the cost of borrowing would have
also fallen. This would encourage households to borrow more to spend on big-ticket items;
and firms are encouraged to invest more. This is because the MC of investment would have
fallen. Since the MB is now greater than the MC, investments that were previously
unattractive would now be lucrative enough for firms to take on. The rise in C and | will help
increase AD that bring about a positive multiptier effect to raise national income.

[EV] Similarly, the extent of increase in C and | is dependent on the expectations of the
economy in the future. If the outlook is bleak, households and firms may withhold their
spending. For countries with a smaller domestic sector and where sentiments are weak,
boosting C and | may not be effective to promote economic growth.

The rise in the AD, whether by expansionary fiscal or monetary policy, will lead to an
unplanned fall in inventory levels that causes firms to step up on production. As the firms do
so, household incomes will rise because firms now hire more workers. This rise in income
will result in a rise in induced consumption that leads to a further rise in the AD. This will
result in firms stepping up on production again that leads to a further rise in households’
incomes. This process will continue until total injection = total withdrawal. A new level of
equilibrium national income is achieved that is a multiple of the initial rise in the AD. As such,
national income rises while demand-deficient unemployment falls.

[L] Hence, expansionary demand management policies may be adopted by countries to
tackle the negative economic growth and reduce demand-deficient unemployment.

[EV] Different countries may achieve a similar effect to a different extent because of the
difference in the size of the multiplier. A country with a lower degree of leakages such as
the US will have a stronger muitiplier effect than one with high leakages such as Singapore.
The heavy reliance on imports and high savings rate in Singapore will lead to higher leakage
compared to the US.

{P] A country may use supply-side policies to tackle the consequences of negative
economic growth and infiation

[E. E] For countries like Singapore that rely heavily on foreign workers and imported raw
materials may choose to adopt supply side policies instead. This is because the rise in
UCOP may be more severe than the fall in AD. In our analysis above, the rise in UCOP has
resulted in negative economic growth and inflation. Supply-side policies may be used to
offset the rise in UCOP, thereby reducing inflation and restoring the loss in national income
from a fall in the AS.

For example, automation may be adopted to offset the reliance on Malaysian workers who
are now unable to cross the border to work in Singapore. With the rises in labour productivity
from adopting automation, and assuming productivity rises by more than the wage rate, unit
Jabour cost falls. Government may also provide temporary wage relief to firms to offset the
rise in wage cost. Other forms of cost reliefs could also come in the form of temporary tax
holidays. Such supply-side policies will lead to an increase in the AS for an economy
because it is now cheaper to produce the same units of output. The resulting downward shift
in the horizontal portion of the AS curve due to a fall in UCOP will lead to a movement along
the AD curve. Hence, national output rises when GPL falls.

[L] Hence, a country that suffers the effects of cost-push inflation to a larger degree may
adopt supply-side policies to tackle the consequences of a border closure.
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[EV] For a country that was initially suffering from demand-pull inflation, the fall in AD caused
by the closure of international borders would actually be beneficial for them. Hence, such a
country would most likely choose to adopt supply-side policies that will shift the vertical AS
rightwards instead because it helps to reduce the fise in GPL and leads to a rise in national
income to better target the root cause of the cost-push infiation.

Conclusion/Evaluation

[Stand] The effectiveness of the policies adopted by different governments hinges very much
on the problem(s) created by the closure of international borders (which is partly
dependent on the initial state of the economy), the nature of their economies and the mix of
policies that are adopted by the govemments.

[Substantiation]

The Inltial state of the economy may determine whether a country wouid choose to adopt
supply-side policy or demand-management policies. If the economy was initially suffering
from demand-pult inflation, the fali in AD from the closure of internationa! borders helps to
reduce the problem; and the use of supply-side policies would be more effective to generate
actual growth and lower inflation.

The extent / type of problems created the closure of intemational borders determines to a
large extent what policies a government chooses. For some countries, the effects of rise
in UCOP may be mare severe than fall in AD because of the nature and their initial state of
the economy. In this case, the use of supply-side policies will better target the root cause
{horizontal vs vertical portion of AS) of their problem more effectively. For example, a country
like Singapore that relies on imported raw materials and foreign labour, she should adopt
short-term supply-side policies to mitigate the rise in UCOP.

In addition, for a smaller country like Singapore, the use of fiscal policy to address the
recession caused by border closure might not be as effective as in the US. This is because
although Singapore does not face a crowding-out effect, she has a smaller domestic
market and a much smaller multiplier size due to her high MPS and MPM. Thus, besides
expansionary fiscal policy, Singapore also uses supply-side policy like wage subsidy to
generate actual growth. On the other hand, a big and less open economy like US could
use fiscal policy but will face the issue of crowding-out effect. Hence, to boost the
effectiveness of demand management policies, the country tends to also use expansionary
monetary policy like interest rate cuts.

A country like the US could also use wage subsidy, but the scope of its use would be more
limited compared to Singapore, given its lack of fiscal reserves.

Mark Scheme

Level / Descriptors

Marks
L3 Well-explained analysis on how and why different countries used different
8-10 policies to tackle negative economic growth and cost-push inflation. Answer

should be supported by appropriate examples or contexts.

L2 Analysis that has some gaps in explanation (cursory explanation) of how
5-7 policies work and lack examples fo illustrate.

Max 6 m: For analytical explanation of only 1 policy or policies that only tackle
one problem (consequence).
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Question 5

Monetary policy - generally conducted by central banks such as the U.S. Federal

Reserve (Fed) or the European Central Bank (ECB) - is a policy tool for achleving low

inflation and economic growth.

(a) Explain the economic consequences when central banks are unable to achieve low
inflation. [10]

(b) Assess the likely impact on the living standards of Singapore residents when the
US central bank cuts interest rate. [15]}

Part (a)’s suggested answer
[R1] Explain one economic consequence when inflation rates are not low
[R2] Explain a second economic consequence when inflation rates are not low.

Intreduction

Infiation is a situation where there is a sustained increase in the general price leve! (GPL) of
an economy. Central banks around the world usually aim for a low inflation rate of about 2%.
This is the main objective of central banks as this low rate is associated with good economic
performance in an economy. Higher or negative rates of inflation usually leads to problems
that imposes various costs to the economy.

Body

[P] High inflation rate leads to price instability and creates uncertainty for businesses
and discourages investments as well as worsens price competitiveness of the
country’s exports leading to a fall in economic growth.

[E] In order for firms to undertake investments, they need to be assured of the profitability of
their investments, which would entail them being able to accurately forecast their expected
revenues and cost incurred in producing goods and services and hence profits. Having a
high inflation rate would result in the price signals provided by the market being distorted and
this uncertainty would make it difficult for businesses to plan for their future needs. In
addition, an economy experiencing high inflation could indicate the economy is not doing
well and decrease firms’ business confidence and hence their expected rates of returne on
investments. Thus, investments will be discouraged Ieading to a decrease in AD which not
only leads to a multiplied decrease in real NY and lower levels of employment via the
multiplier effect but also negative potential growth in the economy, if the rate of capital
accumulation is less than the capital depreciation rate. This will worsen the actual and
potential economic growth performance of the country.

[E] When a country has a high inflation rate compared to their trading partners, this will
mean that prices of the country’s exports would become less price competitive in the world
markets leading to a lower quantity demanded by foreigners and a decrease in the export
revenue. In addition, locally produced goods are now relatively more expensive compared to
imports leading to a rise in import expenditure, as residents switch to foreign goods instead
of consuming the relatively more expensive domestic goods. This increase in M and fall in X
due to a rise in the GPL will lead to decreases in real national income and hence negative
economic growth through the intemational substitution (NOTE to students: This is a
movement along AD because it is a response to a change in GPL).

[L] Therefore, not being able to maintain a low inflation rate discourages investment and
exports needed for economic growth in an economy.

[Pl Low inflation is needed in order to allow the market to allocate resources
efficlently and prevent the wastage of resources such that society’s welfare can be
maximised.
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[E] When inflation becomes too high and/or rising, prices no longer change in a predictable
manner. When the price of a good increases a producer is unable to clearly detemmine if the
price increase Is indeed due to an underlying increase in consumer preference and hence
demand for that product. He may choose to allocate more resources to the production of
that good, but it may be the case that consumer demand has not increased at all. This will
lead to an inefficient allocation of resources because increasing production level of the good
causes the output level to reach a point where the MB of consuming the good will be less
than MC of producing it, resulting in welfare loss for society. Due to scarcity, it is important
that resources be allocated in a way which maximises society’s welfare, i.e. one whereby
allocative efficiency is attained. In a market economy, price signals are the mechanism by
which it is attained — higher prices indicate rising consumer preference for the good — and
hence resources should be allocated to fulfill consumers desire for the good, just as falling
prices signal to producers to allocate less resources to the good. Hence with the distortion of
the price mechanism because of high inflation, society’s welfare will not be maximised.

[E] In addition, high inflation would also impose menu costs on an economy as business
would have to constantly have to decide on new prices, change price labels and print new
menus or catalogs when prices change. When there is high inflation (e.g. hyperinfiation),
firms will see such costs rise rapidly as they have to change prices very often to keep up
with all other prices in the economy. This would lead to a wastage of resources that could
have been used for other purposes that could contribute to a higher economic well-being of
society.

[L] Therefore, maintaining a low inflation rate can prevent inefficiencies arising from price
instability.

[P]1 A high Inflation rate makes it harder to maintain the SOL of the country’s
residents/lead to the SOL falling.

[E] Inflation reduces the intemal value of money. When inflation is high and nominal wages
remains constant or rises less than the inflation rate, the purchasing power of workers and
hence households will fall as they are able to purchase less goods and services with the real
incomes they receive. This usually applies to casual workers whose wage rates are not
indexed. Inflation thus reduces their material SOL of such residents.

[E] In addition, if inflation is high, then the real interest rate would be lower as the real
interest rate is given by nominal interest rate minus inflation rate. A high inflation rate would
disadvantage savers, as the real returns on savings would become lower. This may be of
particular concemn for retirees who are living off their savings or are drawing a fixed income
from pensions or retirement funds, hence their material SOL would be lowered. Conversely,
if there is deflation, then the real interest rate would be higher, which would disadvantage
borrowers as the real burden of debt is increased. This would adversely impact young home
buyers who may be borrowing to finance their purchase, with the increased real burden of
debt meaning that more consumption would have to be sacrificed to repay the interest in real
terms, causing a decline in material SOL.

[L] Therefore, a high inflation rate would worsen the SOL of various residents in a country.

Mark Scheme
_.o_< e Descriptors :w_.x
L3 | For a wel-developed analytical explanation of at least 2 economic
consequences when central banks are unable to achieve low inflation 8-10
12 | Answers that provide an incomplete or descriptive explanation of the
costs of high/negative inflation. 5-7
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produced goods and services, causing AD fo rise further to AD2. At the same time,
households save a part of their increased income, pay more taxes and spend on imports,
causing withdrawals to increase. Since the spending by one is income for another, the cycle
continues until withdrawals once more equate injections. Assuming there is spare capacity in
the economy, these successive rounds of spending lead to multiplied increase in national
income for the US from YO to Y2.

General Price
tevel

AS,

Real National
0 Y, Y, Y, Y Income/t

[E] As NY rises in the US, US households wilt have greater purchasing power and wili likely
increase their demand for imports since import is a function of income. This will benefit
Singapore as some of this increase will be for exported goods from Singapore. As Singapore
sees a rise in (X-M), this will in tumn lead to a rise in AD. Similar to what was explained
earlier, Singapore firms will also experience an unplanned fall in inventories which will signat
to them to step up production and demand for more factors of production (e.g. labour) in
order to produce more. As output and income increase, households will spend a portion of
their income increase on domestically produced goods and services, causing AD to rise
further and the cycle to repeat. Hence, demand-deficient unemployment will fall and there
will be a multipiied increase in national income an actual economic growth. Assuming that
the population level stays the same, the real GDP per capita in Singapore should rise and
this will result in greater purchasing power to buy goods and sefvices for the satisfaction of
their wants and needs. This will fead to an increase in their material living standards

[E] In addition, the increased economic activity and higher income levels will lead to
increases in tax revenue collected by the Singapore government from direct taxes such as
income and corporate tax as well as indirect taxes such as the goods and services tax. This
will increase the government's ability to spend on items that contribute to households’
material and non-material SOL e.g. increase spending on health care, education and various
social amenities, as well as green technologies to reduce pollution levels.

[L] Thus, the higher Economic Growth in Singapore because of the cuts in US Interest Rates
will lead to an increase in both material and non-material SOL of Singapore residents.

[Ev] The extent of increase in X revenue for Singapore from the interest rate cuts depend on
consumer and business confidence in the US. !f consumers and firms are generally
pessimistic, then the interest rate cuts are unlikely to cause C and 1 to rise significantly,
thereby limiting the increase in national income in the US. This means that the impact on
Singapore’s economy might be limited as the level of X will not increase significantly.

[Possible alternative EV] Lower interest rates in the US might result in hot money (short
term capital) outflows that will cause the US$ to depreciate (SGD gets stronger) as SS of
US$ increases in the currency markets. This may cause goods and services from the US to
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be relatively cheaper in terms of Singapore dollars and so Singapore may increase quantity
demanded for imports from the US. If demand for the imports is price elastic, it will result in a
rise in M. Furthermore, the weaker USD would cause exports from Singapore to be relatively
more expensive in USD, causing US consumers to demand less of Singapore’s exports.
This may lead to a fall in X. The fall in X-M and AD (if more significant than the initial change
due to higher nationa! income in US) will negatively impact Singapore’s actual growth and
cause a rise in demand-deficient unemployment. This would lead to a fall in SOL as these
workers are unable to purchase as many goods and service as before. (or offset some of the
initial gains from the initial increase in AD)

(*Possible indirect positive iImpacts to consider)

When the US central cut interest rates, Singapore’s interest rates will fall too due to
Singapore being an interest rate taker. So, consumption and investment levels in Singapore
might also rise leading to an increase in AD and subsequently higher AG and PG which
improves the SOL.

Higher EG in US could lead to better business confidence of firms/global outiook since it's
the world's largest economy and result in increase FDI (especially in high tech/clean energy
industries) to Singapore which will help AG and PG leading to higher SOL.

[R2] US central bank cutting interest rates will negatively affect material and
non-material SOL In Singapore

[P] US interest rate cuts may increase inflationary pressures in Singapore.

[E, E] If the Singapore economy is operating near full employment, the rise in AD from the
higher export revenue will result in a rise in the general price level (GPL) and greater
demand-pull inflationary pressures. This is because when output is increased, the resulting
fall in unemployment means that firms are less able to get the resources that they need,
resulting in less efficient factor combinations and rising unit cost of production. Hence, firms
are only willing to sell their output at higher prices. The increase in general price level wiil
lead to a rise in the cost of living for the residents in the country.

[L] Assuming the average household’s nominal income rises more slowly than the GPL or
remains unchanged, there will be a fall in its real income, that is, a fall in the amount of
goods and services that households can consume resulting in a lower material standard of
living.

[P] The rise in economic activity from a cut in US interest rates could lead to afall in
non-material SOL in Singapore

[E] The higher demand for Singapore exports from the US will mean firms in Singapore will
likely increase their production of goods and services. This increase in economic activity will
likely result in increased negative extemalities caused by pollution from factories as well as
transportation services (cars and trucks) as firms and consumers in their pursuit of
self-interest will only consider private marginal benefits in their decision making and will not
bother to internalize the negative extemalities by reducing the pollution created by their
production activities. The pollution couid lead to a fall in the air quality and the increase
production of transport services lead to an increase in {evel of traffic congestions in the
country resulting in a lower quality of life as the health of the residents are adversely
affected.

[E] In addition, rising economic activities would usually be accompanied by rising working
hours that would affect the amount of time workers have for rest and other leisure activities.
This is because, in the short run, firms will not be able to increases its fixed factor (e.g. factor
building) to increase its output and would likely resort to increase output by getting their
employees to longer hours each day. This fonger working hours and pressure to meet higher
production levels would also increase the stress level of workers and adversely affect their
mental health and quality of life.

[L] The worsening of the quality of iife would result in a fall in the non-materiat SOL.
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o Secondly, it is inaccurate to state that large economies by definition are far
from Yf in view of the large amount of resources they have while the reverse
holds true for small countries. Being close or far away from Yf reflects the
state of the economy, i.e. level of AD relative to productive capacity of the
economy. The productive capacity of an economy is influenced by various
factors and not the amount of resources a country has.

There is confusion about the relationship between investment (purchase of capital
goods like machinery, factory buildings) and interest rate and the relationship
between hot money (purchase of financial assets like bonds) and interest rate.
Learning point: Investment varies inversely with interest rate (think from borrower
perspective), while hot-money varies directly with interest rate (think from lender
perspective).

The argument that a cut in interest rate by the US would lead to rise in foreign direct
investment by US MNCs in SG is a weak one - this is because i) a US firm does not
necessarily have to borrow from US to invest overseas, ii) choice of investment
destination is affected by factors in in the countries that are receiving the FDI! - e.g.
unit COP; corporate tax rates; extent of protection of intellectual property rights.

Hot money flows usually affect the demand and supply of currency or BOP but it is
not a component of AD so the flows will not directly cause AD to change.

Greater income inequality does not automatically mean a fall in material SOL. When
high income eamers eam more leading to greater income inequality, it does not
equate to the lower income earning less. This the material SOL of low income
eamers will not necessarily fall.

48

Question 6

Singapore is one of the most competitive economies globally. Businesses in

Singapore receive government support to uplift productivity, strengthen capabilities,

and access new markets.

(a) Explain the reasons why a country’s comparative advantage might change over
time.

10}

(b) Discuss the extent to which the measures adopted by the Singapore government
aimed at increasing global competitiveness might cause difficulties for its
economy. :

115}

Suggested answer

(a) Explain the reasons why a country’s comparative advantage might change over
time. [10]

Introduction

Comparative advantage is the ability of a country to produce a good or service at a lower
opportunity cost compared to other countries. Based on the theory of Comparative
Advantage (CA), a country can benefit from trade by specialising in the production of a good
or service that it has CA in, and then export the good for which is has CA in production and
importing the good that it has comparative disadvantage in producing. While the theory does
assume that a country’s CA is inherent in the factor endowment which is rather static, CA
patterns can indeed change in the real world with different factors involved.

Body

[P] The main source of CA is the country’s factor endowment, hence changing CA can
be due to changes in factor endowment.

[E.E] Changes in a country's factor endowment may be due to intensive usage of its
natural resources.

One example could be for countries that have abundant mineral resources such that the
opportunity cost of extraction might be lower, and thus have a CA in production of minerals
like coal or copper. Over time, as these resources are mined, the resources are depleted,
thus diminishing the factor endowment of the country, and leading to a rise in opportunity
cost of producing the raw material such that it could become higher than another country’s
opportunity cost of production, resulting in a loss of CA.

Another example of changing factor endowment can be seen in China. The relative
abundance of cheap labour in China in the past allowed China to specialise in labour
intensive production and export their goods, incurring lower opportunity cost compared to
other countries. However, China is gradually losing CA in labour intensive goods as
heightened demand together with slower population growth has led to reduction in the
abundance of labour in China, increasing the opportunity cost of labour-intensive
industries and this has eroded China's CA. Instead, production of labour-intensive goods like
textiles has started to shift to other countries such as Vietnam, where there is greater relative
abundance of low-cost labour.

[L] Hence changing factor endowment would lead to changing comparative advantage.
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(b) Discuss the extent to which the measures adopted by the Singapore government
aimed at increasing global competitiveness might cause difficulties for its
economy. [15]

Introduction

The global competitiveness of an economy can be measured by price & quality (non-price)
competitiveness of its products, to improve on these aspects, a combination of demand
management and supply side policies can be used. However, these policies options might
cause significant trade-offs within the Singapore’s economy.

Body
[P] Free trade agreements used to increase Singapore’s price competitiveness might
bring about structural unemployment in Singapore.

{E, E] Singapore focuses on exporting goods and services in which she has comparative
advantage such as pharmaceutical and financial services. With lower opportunity cost in
producing these goods and services, Singapore has price competitiveness in selling these
products in global markets. To promote her exports competitiveness further, Singapore has
signed Free Trade Agreements (FTA) with countries such as Europe and USA. She is also a
member of the ASEAN Free Trade area. These free trade agreements will eliminate tariff
barriers amongst member countries and will help to make Singapore's exports cheaper
when sold in the markets of member countries, increasing Singapore's price
competitiveness.

The forging of FTAs could also attract FDI from MNCs into Singapore. For example, an MNC
from a non-ASEAN country with no FTA with ASEAN may wish to set up production plants in
Singapore so that it can export from Singapore to other ASEAN countries, to take advantage
of the waiver of import tariffs by other ASEAN countries when the good is exported from
Singapore due to the ASEAN FTA.

[E, E] However, this will expose Singaporean firms to a higher level of intemnational or
regional competition. For Singapore, the forging of FTA could fead to removal of non-tariff
barriers that lead to entry of foreign firms that supply services, into the Singapore market.
Hence, industries which do not have the comparative advantage against similar industries in
economies of the FTA or face a competitive disadvantage against foreign firms in the
country, might face a reduction in their demand and the eventual need to reduce their
demand for labour. These workers who are then unemployed might not have the skiliset for
other industries, leading them being structurally unemployed.

[L] Hence, while FTAs can bring about an improvement in price competitiveness of export for
Singapore, it can aiso cause difficulties in term of structural unemployment.

[P] Supply-side policies such as the promotion of process innovation to Improve price
competitiveness might cause structural unemployment and the widening of the
income gap.

[E.E] Singapore focuses on exporting goods and services in which she has comparative
advantage such as phamaceutical and financial services. With lower opportunity cost in
producing these goods and services, Singapore has price competitiveness in selling these
products in global markets. To promote her exports competitiveness further, Singapore has
employed supply side policies such as the Enterprise Development Grant (EDG) by
Enterprise Singapore. The grant subsidises firms to improve on their processes or to
encourage adoption of automation to reduce the unit cost of production. While this will
improve the price competitiveness of Singapore’s export, it might cause workers whose jobs
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are made redundant due to the increased automation of firms’ processes. If these
retrenched workers lack the relevant skill sets needed to manage the automated tasks or are
unable to gain employment further up the value-chain, there will be an increase in structural
employment, [L] causing difficulties for Singapore's economy. There will be people who can't
find alternative jobs due to the lack of relevant skills. Moreover, those who have relevant
skills that match the country’s drive towards automation will enjoy rising wages. [L] Thus,
the distribution of income in the country becomes more unequal.

[P] A low tax rate and building a well-connected Infrastructure to attract FDI might
lead to a worsening of the Singapore government budget position rising inequity.

[E.E] To build up a high level of attractiveness to foreign investors, Singapore maintains low
business costs, a ready pool of skilled labour, and quality infrastructure for business
operations. To attract investments, Singapore has a low corporate tax rate, and ensures
ease of doing business through simplifying administrative processes and facilitating
investments via govemment agencies like the Economic Development Board. Supporting the
build-up of required infrastructure, including stable and affordable electricity and water
supplies, also helps attract foreign businesses to set up operations in Singapore as having
strong infrastructure networks helps to lower cost of production for firms. However, the fiscal
spending to achieve these infrastructure projects are significant and prolonged. A low
corporate tax environment might limit the fiscal budget the government can raise to finance
such spending. In order to ensure a sufficient fiscal budget, the government might explore
alternative tax revenue streams such as increasing the Goods and Service Tax (GST). As an
indirect tax, it places a larger tax burden on lower income families as the tax will take up a
larger proportion of their income, [L] resulting in greater inequity Singapore.

[Ev] While there are efforts to mitigate some of these effects by providing transfer payments
such as the annual GST vouchers, Singapore faces a shrinking labour pool from an ageing
population and in tum a shrinking tax pool by the government. Hence, the govemment will
need to rely on increasing indirect taxes to finance its spending to improve global
competitiveness. Over the long run, this will continue to place a disproportionate burden on
lower income families in the economy. But this can be reduced via transfer payments
targeted at poorer households, to off-set the effects of GST.

Conclusion

[Stand] Measures used by the Singapore government to improve global competitiveness will
cause difficulties to a limited extent.

{Substantiation] Given Singapore's trade dependent nature and small domestic economy,
measures that improves its global competitiveness can bring about significant
macroeconomic benefits in terms of growth and employment. Furthermore, the extent of the
difficulties caused by the policies can be determined by the nature of the chosen policies to
improve global competitiveness. Policies that aim to improve the skills of the labour force
should lead to a limited conflict as it can bring about inclusive growth while improving
Singapore's BOT. However, policies such as FTAs and the promotion of process innovation,
on their own, can lead to improvement in competitiveness while causing structural
unemployment.

Overall, the difficulties from the measures employed by the Singapore government will
generally be limited. This is because the government can consider using a right mix of
policies such as the promotion of process innovation while retraining workers in the relevant
skills to minimise the structural unemployment that arises from the former.
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